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M(x)
� "���#�$%�&' ������ �#��%�(�

)�#*!�� µ3
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X
� �������� ��!���&� ������� �� #��)#�,!�$���* -�������

n. / 0 �'�� )�������$% �������#�� Σk 1 /
234353 66 787 9 :;< 9<=> ?@
X = 1, 8, 13, 18, 21, 23
n = a, b, 32, 28, 17, 7
M(X) = 14.6455 A µ3(X) = −86.4393

234353 66 7B 7 9> ?C;< D EFG;H
X = 1, 6, 11, 13, 16, 19
n = b, 14, a, 22, 12, 7
M(X) = 11.2128 A µ3(X) = −49.9151

234353 66 76 7 I JK LEFMNE 9<<E
X = 1, 6, 9, 13, 17, 21
n = a, b, 30, 19, 19, 9
M(X) = 11.6263 A µ3(X) = 39.4469

234353 66 7O 7 IPFMNE Q NL?<;R
X = 1, 6, 9, 14, 19, 24
n = a, b, 30, 21, 15, 13
M(X) = 12.1143 A µ3(X) = 92.5516

234353 66 7S 7 T;FUM> MN 9K ?FGE<=>
X = 1, 4, 8, 11, 16, 19
n = a, b, 34, 19, 16, 8
M(X) = 9.8061 A µ3(X) = 38.6944

234353 66 7V 7 T MK W<MN X ;> ;KK
X = 1, 3, 7, 10, 15, 19
n = a, b, 27, 24, 17, 6
M(X) = 9.3596 A µ3(X) = 29.0459

234353 66 7Y7 Z> ?[FM \ E<;;K
X = 1, 7, 10, 15, 21, 26
n = a, b, 32, 24, 20, 13
M(X) = 13.8261 A µ3(X) = 103.0972

234353 66 7] 7 Q>H EFMN \ E<;KE
X = 1, 6, 9, 11, 15, 20
n = 4, a, b, 19, 12, 13
M(X) = 10.6100 A µ3(X) = 61.3655

234353 66 7^ 7 _E`E> ?<FMN a NE<
X = 1, 7, 9, 11, 17, 21
n = a, b, 25, 19, 17, 12
M(X) = 11.7083 A µ3(X) = 72.8566

234353 66 78b 7 D EKEL;< \ E<;;K
X = 1, 5, 11, 18, 22, 24
n = b, 13, a, 26, 17, 6
M(X) = 13.9604 A µ3(X) = −87.1500

234353 66 7887 D E>UP<MN 9<UM<
X = 1, 5, 9, 13, 17, 21
n = 9, a, b, 23, 19, 9
M(X) = 10.8692 A µ3(X) = 10.1651

234353 66 78B 7 D E`H JUMN T EK ?<U;<
X = 1, 3, 7, 11, 16, 19
n = 10, a, b, 20, 17, 4
M(X) = 8.9255 A µ3(X) = 31.8420

234353 66 786 7 D ?K ?cFM d EN?K
X = 2, 7, 10, 13, 18, 21
n = b, 17, a, 25, 15, 8
M(X) = 12.0000 A µ3(X) = 27.2400

234353 66 78O 7 D M`EH ?= 9K;
X = 1, 6, 9, 12, 15, 18
n = a, b, 31, 25, 16, 5
M(X) = 9.7333 A µ3(X) = −26.3884
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234353 66 78S 7 �;M<MN d EN?K
X = 1, 7, 12, 17, 20, 23
n = a, b, 27, 23, 14, 8
M(X) = 13.4545 A µ3(X) = −54.6717

234353 66 78V 7 �MFMK MN X M<GUE<U;<
X = 1, 4, 10, 15, 22, 27
n = b, 11, a, 23, 21, 13
M(X) = 14.4579 A µ3(X) = 64.2967

234353 66 78Y7 � M`KMN 9K ?FGE<=>
X = 1, 6, 10, 13, 19, 23
n = a, b, 33, 26, 17, 9
M(X) = 11.6404 A µ3(X) = 47.8809

234353 66 78] 7 � MN;FMN �UE<;GKEN
X = 1, 4, 7, 12, 14, 18
n = 7, a, b, 25, 13, 8
M(X) = 9.3085 A µ3(X) = 5.3592


